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CHAPTER Sl

TEcHNICAL WRITTEN
COMMUNICATION

Words and Phrases

2.1.1 Word

Word is a basic unit in a sentence. We use words to say something about a person or thing. Without
words no written or oral communication is possible. A word, in fact, is a complete unit with a definite
meaning. For example the words such as cat, black, wall etc. have their own meaning i.e. cat can be

eplaced by dog or black for white. When these varieties of words are put together, they form a sentence
hich has got its own meaning.

.1.2 Phrase

phrase is usually a small group of words without a predicate which makes sense but not
“omplete sense.

I would build a hospital for the poor.

For the poor' in the above sentence is a phrase.

be of differ ther e can be noun phrases, adjective phrases and gdveirﬁ
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Zos 5 o word :

Examples :
: < ea Pollowing
1. Add-re at the beginning of t he .f"l ;

appear — K'CZIPPC(“

write — rewrite s order
following words in 0

; ¢
2. Add-ment at the end of the

arrange — arrangcnwm

adjust — adjustment

EXERCISE 2.1

. ich the prefix is wpor-
Directions : In the following questions, there is one WO g(]

that word : B i T
(a) B iy i
1. discooperative dissatisfaction disobey
> encourage enfool enslave
3: indiscipline inaccurate inpolite
4 impossible impure impatient
3 unregular ° irregular biannual
6. possibility uncommon imimitable
7e indelible inconvenient dislocation
8. impunishecf unrewarded upright
9 uhequal ; : lmequa]‘ : : dlshke i
10. Informal ‘ illegible . ﬁille‘gé_lv :
11 unhealthy , Uﬂhyglemc T —
12 s : €
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- r’g”/ imarticulate disassemble disavow discarnate
119
__2__0,,.-— Jisapprove disabuse disability unhonest
_;l,-——— e ungraced disengage disgrace
‘g;"_ indefinite imintelligible unintentional uninteresting
2 o—

-2;" unmanaged inmanaged uncontrolled disrespectful
: —‘_.—-—“'-—'-—f % .
(94 impractical dispractical recast rename
A ———'."" .
E___J unprofessior\al unnaturally unknown incouth
L —

EXERCISE 2.2

Directions : In the following questions, there is one word in which the suffix is wrong. Choose
that word :
(a) (b) (c) Ad)
L conventional polygameous intruder snuffed
) oppression boredom refusal trueism
3 confusation resignation separation decoration
k 4. mixture disposure closure pleasure
.l 5 redden quicken testen shorten
6 childless harmless senseless kindless
7 ambitious spacious sparkleous courteous
8 bravery knavery roguery saintery
advantageous resourceous ruinous grievous
universable | rtra&ceable - servic’eable ‘n_oticeable'
respectful : beautlful serviéeﬁxl 'Ch‘ee_rful
‘ ha-r'ra:tiv:e"" nformatwe : instructive
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B__ glorification decoratification pacification putrification
__}_‘f_‘ felicitation fluctuation fascination permition
20. capture selzure moisture magneture
2] forgivey delivery discovery embroidery
22 attendance accordance acceptance collectance
23. | attaintion abjuration abortion absorption o
24, | disturbance approvance attendance continuance "f':
BS- addictment punishment commitment merriment ‘\
—
EXERCISE 2.1
L@ 2. | (b 3. | (o) 4. | (a0 5. | (a) 6. | (o
7. 1@ 8. | (a) 9. | (v 1001 (). [l (q) @
13. | (d) 14. | (a) 15. | (@) 16 | @ (o
19. | (a) 20. | (b) 21. | (b) 2l s | .
235, | (d) ‘ e =
EXER CISE 2.2
Li® |2 @ 3. | (a 4 = o il (df
2] |8 @ N o Py

g bl
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